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OXEFLIT 2IAH & HERE=S S 97,765
201 er2 3| 1,000 1,200 A200
01 AtR2t2|HI 1,000 1,200 A200
OAtF2teltl 1,000
Olt== O THHHXICH AIAE M RXI - =2
=~ 1,000
202 04l 1,800 2,000 A200
01 SLHoIH 1,800 2,000 A200
ouge =X 1,800
207 ARl 11,000 10,474 526
03 AlIZ &=t 11,000 10,474 526
Oblz, s = 11,000
OlcHe o= HYH =& I 77,336 66,849 10,487
101 21AH| 44,536 38,229 6,307
M ORNZZ2NSE S 44,536 38,229 6,307
OEFCIF QI2H X HERES S 44,536
201 er23| 1,000 1,000 0
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M s28II=
B AW ANXS WL (SHYSM/52 - 5E)
ol D AEZE U D|SHE (1SI1E N (ol @)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 At2tltl 1,000 1,000 0
OMUHii=& 22 M 1,000
202 04t 1,800 2,000 A200
01 =LHOHI 1,800 2,000 A200
oY =N 1,800
207 ARl 30,000 25,620 4,380
03 AlZ &=t 30,000 25,620 4,380
EH, Hg, s% S 30,000
AL BHSEE MES YRS HMHAH 75 150,000 0 180,000
207 ARl 28,000 0 28,000
03 Alg A -1t] 28,000 0 28,000
o8k, HIg, s S 28,000
401 AIEHIZ SO 122,000 0 122,000
01 Al&H| 122,000 0 122,000
OAllt SERS M= AREE X4 S 122,000
SEXNDIIBESE (HHSE J|8 ADE I HIAEH 250,000 0 250,000
E EE ) (M)
405 AtatE = 250,000 0 250,000
01 Tt ESF=HI 250,000 0 250,000
Olt== M5} FH| 7 (HE) 250,000
SEXNEIIBERLH(OIZEE 8 A= St MSEHI)( 106,000 0 106,000
HEAY)
405 AHatE = 106,000 0 106,000
01 ML ESFSHI 106,000 0 106,000
Ot Sl Mgt HH| 7 (HE) 106,000
EFsbts Wil L (sEHigsd/sY - &) 1,217,878 701,562 516,316
= 30,000
[ 167,500
= 1,020,378
sEEEN 2 NHSE Zet 422,557 136,657 285,900
= 5,000
= 417,557
Eg2c] E& A4 59,180 60,720 21,540
101 e124d| 20,460 20,000 460
M ORINZZ2NSE S 20,460 20,000 460
QIIZNE=SA 20 & HIRE=S, &0 20,460
201 er23| 8,000 10,000 22,000
01 At2teltl 8,000 10,000 A2,000
OANREE, AEa Ha ¥ HDIS SIHel
Bl S 8,000
202 O] 20,400 20,400
01 2L AH| 20,400 20,400
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FA s8II=d
. ABASAMS MATIS Y (SHLSL/ 5 - BE)
ool SoisAEA U NBEA 2 (crol: M=)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OF@ U B2A A0IEl, 22 2sraAl
g0 X& s 20,400
207 ARl 10,320 10,320
03 Al 2HI 10,320 10,320
OAlI%, =ADI7 & D=k JtA 10,320
dEd o1s $ g R 24 6,060 6,060 0
202 04 1,560 1,560
01 =LHOLI 1,560 1,560
OME=E & HREO 1,560
207 ARl 4,500 4,500
03 Al 32t 4,500 4,500
OltP & E4&Hl & 32O 223 S 4,500
s&=E JI=dal 330l N 30,317 30,877 2560
101 @124H| 19,554 19,114 440
04 JIZtN22 XS 2+ 19,554 19,114 440
OIS S0 & HEFEs, o0 19,554
201 et 3| 1,000 2,000 1,000
01 At22t2lH] 1,000 2,000 A1,000
OMRES & HEENH S 1,000
202 04l 2,000 2,000
01 SLHoIH 2,000 2,000
oM=L 2 HREO 2,000
207 ARl 7,763 7,763
03 Al 2] 7,763 7,763
OBX, sAM, A%, =X S 7,763
=I128HlE XN& SEZA 7,000 7,000 0
207 ARl 7,000 7,000
03 AlZ &=t 7,000 7,000
OR=k SZIIE & M, 228 S 7,000
EEAY 2 Nd(s22d)(=1) 20,000 20,000 0
= 5,000
s 15,000
101 @124H| 18,000 15,668 2,332
= 4,500
< 13,500
MU IIRINZZENSES 18,000 15,668 2,332
OIS S0 & HE=REs, 40 18,000
= 4,500
= 13,500
201 2= 2,000 4,332 A2,332
= 500
= 1,500
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FA s8II=d
M FEFsLE daDE Y (sEllEsd/sY - sE)
ool SoisAEA U NBEA 2 (crol: M=)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 At2tltl 2,000 4,332 N2,332
OdEd 2EE MRES S 2,000
= 500
< 1,500
SEXNDBERH (RS A7 2ATH) (HEAY) 300,000 0 300,000
405 AtatE = 300,000 300,000
01 IR ESFSHI 300,000 300,000
OUF = 2AS ZHHI(GC MS/MS) (&) 300,000
LEtd seds 2l A+ 406,172 97,561 308,611
= 25,000
[ 97,500
= 283,672
=2 dolls gMlls &2 42,006 41,000 1,006
101 21AH| 22,506 22,000 506
04 JIZtN2Z2XNSE 22,506 22,000 506
OJIZHN=STH 50 & HERE=s, 40 22,506
202 04l 6,000 6,000
01 SLHoIH 6,000 6,000
OAME=N & HI2HI 6,000
207 ARl 13,500 13,000 500
03 Al 2HI 13,500 13,000 500
OAISF, S 13,500
FRA4= Holils A & HlFE A+ 56,549 51,561 4,988
101 21AH| 44,549 43,547 1,002
04 JIZtN2Z2 XS 2+ 44,549 43,547 1,002
OIIN=SI 20 & HIERE=S, &0 44,549
202 04| 2,000 2,400 A400
01 SLHoIH 2,000 2,400 2400
OMNE=A 2 HREO 2,000
207 ARl 10,000 5,614 4,386
03 Alg 3 -2HI 10,000 5,614 4,386
OAlSf, sAHM 10,000
DT GEHIF XHOts S22 =g 60,617 0 60,617
101 21A4H| 17,017 17,017
04 JIZtN2 2N S 2 17,017 17,017
OIS 20 € HE=Es, =& 17,017
201 223 6,000 6,000
01 At22t2lt] 6,000 6.000
OHZMA, RN 24 S 6,000
202 04l 3,600 3,600
01 =LHA LI 3,600 3,600
OMNE=A 2 HFE2 3,600
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FA s8II=d
Hm: MBASAS MAD|E N (SHHLLL/SD - 5E)
o XBZ SYUME2 RN o7 (Shol: ®2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
207 ARl 34,000 34,000
03 Alg & -1t] 34,000 34,000
OAlS, S 34,000
sSEASYES dcs 2E I (s28d)(21) 5,000 5,000 0
= 1,500
= 3,500
207 ARl 5,000 5,000 0
= 1,500
= 3,500
03 Al =2t 5,000 5,000 0
S, AlSE, =X S 5,000
= 1,500
= 3,500
=ot2elgals oELNe 2d(s2ed)(20) 47,000 0 47,000
= 23,500
[ 23,500
101 @124H| 47,000 0 47,000
= 23,500
= 23,500
04 JIZtN22 XS E 47,000 0 47,000
OIS S0 € HEFEs, 40 47,000
= 23,500
= 23,500
S5 =2 Hills SHOIE HE(=1) 105,000 0 105,000
= 52,500
== 52,500
101 @124H| 68,000 0 68,000
= 34,000
[ 34,000
M IIRNZZ2NSE 68,000 0 68,000
OIS S0 & HE=FEs, o0 68,000
s 34,000
= 34,000
201 =3 2,000 0 2,000
= 1,000
=S 1,000
01 At2tltl 2,000 0 2,000
oM=L 2 HREO 2,000
= 1,000
< 1,000
202 04| 3,000 0 3,000
[ 1,500
= 1,500
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FA s8II=d
M ZEASAE MiDIs N (sEidsd/=Y - 5&)
Chol: ZIBHE mME BRIRH o7 (Shol: ®2)
SA - B BRA(SH) - HRA - of v e HIDE2
01 2LHoIH 3,000 0 3,000
OHE, NFESE 28 S 3,000
= 1,500
< 1,500
207 ARl 32,000 0 32,000
[ 16,000
= 16,000
03 AlZ &=t 32,000 0 32,000
OAl%, STt S 32,000
[ 16,000
= 16,000
=5 OtAIRIAA 2 Hals 2elMA 25(22) 90,000 0 90,000
= 45,000
< 45,000
101 @124H| 46,000 0 46,000
[ 23,000
LS 23,000
04 JIZtN2Z2 XS 2+ 46,000 0 46,000
OIS S0 € HEFEs, 40 46,000
[ 23,000
= 23,000
201 e 3| 6,000 0 6,000
= 3,000
== 3,000
01 At2t2ltl 6,000 0 6,000
OHE, NFES 728 S 6,000
= 3,000
[ 3,000
202 04| 3,000 0 3,000
[ 1,500
= 1,500
01 =LHOLI 3,000 0 3,000
OMNE=E & HRE 3,000
s 1,500
=S 1,500
207 ARl 35,000 0 35,000
= 17,500
== 17,500
03 Al 2HI 35,000 0 35,000
OAl, sAM S 35,000
[ 17,500
= 17,500
sSAM Jls g 389,149 467,344 AT78,195
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FA s8II=d
. ABASAMS MATIS Y (SHLSL/ 5 - BE)
Gl sHATH Jls HE (CHol &S1)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
201 er23| 5,000 10,000 /5,000
01 At2teltl 5,000 10,000 A5,000
olld= e M 24 =5 S 5,000
202 04dl 3,000 2,400 600
01 =LHOHI 3,000 2,400 600
OAHF=N 2 HRHI 3,000
207 ARl 28,000 25,824 2,176
03 Al & =2t| 28,000 25,824 2,176
OFAIR, AN S A2F 28,000
S AU AT D1 HE(Z22) 140,000 0 140,000
= 70,000
== 70,000
101 @124H| 27,070 0 27,070
= 13,535
< 13,535
04 JIZtNZ22 NS+ 27,070 0 27,070
OIS 20 & HE=REs, =€ 27,070
[ 13,535
= 13,535
201 =3 15,000 0 15,000
= 7,500
= 7,500
01 At2teltl 15,000 0 15,000
OAlg2ZHl, AIREE 78 S 15,000
= 7,500
= 7,500
202 04dl 5,000 0 5,000
[ 2,500
= 2,500
01 2LHA b 5,000 0 5,000
OAEFZ & HREC 5,000
[ 2,500
= 2,500
207 ARl 92,930 0 92,930
= 46,465
== 46,465
03 Al -2HI 92,930 0 92,930
OAS & 285, JIE S 92,930
= 46,465
< 46,465
DR IR (sHM L/ 5 - &) 4,847,060 7,126,653 N2,279,593
= 857,000
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A s28II=
HE: DUOITH I\ KB (SHHYLM/SY - 5E)
ool sg d2J= u= EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 1,100,000
=S 2,890,060
sENZIE =F 2,765,300 5,480,556 N2,715,256
= 1,100,000
= 1,665,300
sEXNEIIBEE(21) 1,075,000 3,755,000 22,680,000
= 1,075,000
403 TR M SAH=01 ™ 1,075,000 3,755,000 A2,680,000
= 1,075,000
01 A= 2L 1,075,000 3,755,000 A2,680,000
OsI=dE sEXT JIgtad 1,075,000
[ 1,075,000
SEXNEI|BEL (HEALY) 1,609,100 1,539,000 70,100
403 MR HHMSAHE01H 1,609,100 1,539,000 70,100
01 MXIHH A 22X 1,609,100 1,539,000 70,100
SEXNZ JIgtEd ZHIXA(HE) 1,609,100
s ADls AlE(=22) 25,000 25,000 0
[ 25,000
403 AXIEHMSAH=0ld 25,000 25,000 0
= 25,000
01 AR A =2 £ 25,000 25,000 0
Os8d sIIHE NSZEEX A8 25 25,000
[ 25,000
sz S 25 19,200 18,556 644
201 =3 13,600 14,000 A400
01 AtR2t2lt] 13,600 14,000 2400
SENT g Azt 5,600
SENTAIEAIEAE, 20M M 4,000
SENSAY et 483 4,000
202 04| 5,600 3,7% 1,844
01 2LHA LI 5,600 3,75 1,844
OsEXNEZAEFY 5,000
OXIZI& AIHAMY S S22 =L 600
SSEsYUALS |4 37,000 63,000 126,000
201 er23| 14,000 14,000 0
01 At2teltl 14,000 14,000 0
O3 HHus & 82X XA 14,000
202 048l 5,000 5,000
01 2L AL 5,000 5,000
OdENT 8 X 5,000
301 EetE NS 6,000 32,000 /26,000
11 AALREIXIR S 6,000 6,000 0
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SN SYIISE
3 DAHOEEY D=l (sEilLdsd/sY - 58)
2ol =8 8201l W= EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 15,000
201 fer2 3| 21,000 18,000 3,000
= 10,500
= 10,500
01 AtR2tc|HI 21,000 18,000 3,000
Osgellisr u=s 24 S 21,000
= 10,500
= 10,500
202 04l 3,000 0 3,000
= 1,500
< 1,500
01 =LHOHI 3,000 0 3,000
Osgots us 238 S 3,000
= 1,500
S 1,500
301 22N = 6,000 8,000 A2,000
= 3,000
= 3,000
11 dALEEIXIE S 6,000 8,000 /2,000
OFAL 24|, 88 Us S 6,000
= 3,000
== 3,000
sgoltisr 24 X&(=1) 229,500 228,000 1,500
= 153,000
LS 76,500
308 AHAIEHMSOIE 229,500 228,000 1,500
= 153,000
= 76,500
01 AXEN B EES 229,500 228,000 1,500
O=geollist 24 XA 229,500
= 163,000
= 76,500
sHWF 435 A2 9,500 10,500 A1,000
201 Let23| 9,500 10,500 21,000
01 At2teltl 7,500 10,500 A3,000
Ol dEZA ddus 7,500
02 S3=gHl 2,000 0 2,000
Ou=%d RAE+, REE S 2,000
dasgel JIxgs)izns Xy (=0)(HY) 20,000 0 20,000
= 10,000
= 10,000
201 er23 | 9,000 0 9,000
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A s28II=
HE: DUOITH I\ KB (SHHYLM/SY - 5E)
ool sg d2J= u= EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 4,500
=S 4,500
01 At2teltl 9,000 0 9,000
o=yl uE 28 S 9,000
= 4,500
< 4,500
202 048l 5,000 0 5,000
= 2,500
= 2,500
01 =LHOHI 5,000 0 5,000
Osgel u=s 24 S 5,000
= 2,500
= 2,500
301 EtE NS 6,000 0 6,000
= 3,000
< 3,000
11 #AIMHIXIE S 6,000 0 6,000
Ous AL 24 S 6,000
= 3,000
S 3,000
Aasel JIxEs)|lsns NJ(=1) 131,250 122,250 9,000
= 87,500
= 43,750
308 XtXIEMSO0IH 131,250 122,250 9,000
= 87,500
= 43,750
01 XN BELES 131,250 122,250 9,000
OtlA=sel J|ZESI = Ws 131,250
= 87,500
[ 43,750
Asgel EFasNs XNJ(20) 351,000 324,000 27,000
= 234,000
= 117,000
308 XXM SOIH 361,000 324,000 27,000
= 234,000
= 117,000
01 AXENBE2LES 351,000 324,000 27,000
OtlA=se SHHEESUF 351,000
= 234,000
== 117,000
s E¥ARNR(S1) 132,600 175,500 242,900
= 102,000
= 30,600
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SN SYIISE
3 DAHOEEY D=l (sEilLdsd/sY - 58)
ool sg d2J= u= EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 132,600 175,500 A42,900
= 102,000
== 30,600
01 XN BSELES 132,600 175,500 242,900
Os2H SEdRUS 132,600
= 102,000
< 30,600
WEE A XNA(=1) 152,750 130,000 22,750
= 117,500
= 35,250
403 TR SHHMSAH=01H 152,750 130,000 22,750
= 117,500
=S 35,250
01 AXISHHA =2 £ 162,750 130,000 22,750
OUsE s8JIH XA 162,750
= 117,500
[ 35,250
s8I 2dst 28X 71,660 76,320 A4,660
201 et 3| 15,160 21,000 A5,840
01 AtR2tc|HI 7,500 5,200 2,300
OsgIIH 20y A5Hst 7,500
2 S52g4l 7,660 15,800 28,140
OsgIIAH AOHEHINsXE & ddl29 7,660
202 04| 2,500 1,320 1,180
01 =LHA LI 2,500 1,320 1,180
W29 2 d3XA 2,500
308 AXIHSOIA 54,000 54,000
01 HAHHBSEEXS 54,000 54,000
OsgIH usesd 2 54,000
SO 2=st X 712,500 329,727 382,773
4Hal 54 326,200 236,282 89,918
201 2egr=3| 29,500 28,042 1,458
01 At22t2lt] 17,000 16,000 1,000
ORIz, 3&dst s S 17,000
03 A2 SHHI 12,500 12,042 458
O4Hz| HAl - B2 - HOIHA S 12,500
202 0o4dl 2,500 2,400 100
01 =LHNHI 2,500 2,400 100
O4Hu= 2 HAF SR 2,500
301 EtE NS 3,000 1,700 1,300
11 AALAHIXIES 3,000 1,700 1,300
OL= - AL AT AH|I2d 3,000
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Ofl &k2h

Ofl &F2H

- SRA(3) - HIRAY

- EaS

S LRE-L

A1,000
1,000
86,860
86,860
200
200
32,855
32,85
32,855
10,000
10,000

260,000
250,000
250,000

52,000
21,000
31,000

7,140
7,140
73,945
2,800
2,800
2,800
2,800
7,000
7,000
61,345
61,345
19,500
10,000
10,000

9,500
9,500

145,000

145,000

13,000
30,000
21,000
30,000
145,200
145,200
97,200
48,000
106,800
2,800
2,800
2,800
2,800
2,800
2,800
7,000
7,000
7,000
94,200
94,200
58,000
16,200
20,000

279,500

52,000
20,000
20,000
32,000
32,000
94,000
94,000
20,000
20,000
20,000
9,500
9,500
9,500
250,000

250,000
250,000
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se)|=
DHOLES I SN A (SHHY L 5
SENUEMNE 82 (S &)
SA - ZE - BR(3) - HRA - B of v e HIDE2
SEUEMY 2= 29,000 18,600 10,400
sHls g8 29,000 18,600 10,400
201 er23| 25,000 15,000 10,000
01 At2teltl 25,000 15,000 10,000
OsEISAY 82 29 4,000
OSENEMNY 28 J=2s L AU 1,000
O=sgJI=% e 2284 & 20,000
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2EN2E JI2ZH(sEXE ) 16,649 16,429 220
201 er=23 | 12,051 12,249 A198
01 At22te|HI 12,051 12,249 A198
PN2E AR/ 12,051
202 04| 4,598 4,180 418
01 2L 4,598 4,180 418
ORKAK2g =L 4,598
gad 29 58,580 58,700 A120
201 Ler23 | 58,580 58,700 A120
01 At2t2ltl 58,580 58,700 2120
0g - =4 =& 58,080
Ogia B4F 78 & Al 500
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